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Ha: #HH2HAY|(012)
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el JI=2 3 (Gt H2)
A -3 - GRA(3) - ARAY - BES Ofl &y I8 [ ImE=r",
1,331,889 1,342,046 A10,157
Ay 2IFHI(01EH) 70,514 74,078 A3,564
Jlz23tl 70,514 74,078 A\3,564
Jl23tl 59,914 63,478 A\3,564
202 04t 35,156 38,720 A3,564
02 ZH0il 32,076 35,640 13,564
O N0l
BE 225,000 %22+ 122 x54% 32,076 35,640 13,564
I =SEAMHIA 23H(01FH) 1,261,375 1,267,968 16,593
==X gkat 588,645 593,093 N4,448
HA2E 2l 163,699 166,899 23,200
201 LetE gy 64,334 67,534 23,200
01 At 2teltl 15,262 15,462 A200
Oagotdze| X n=H| 23 02 0 200 A200
R =23l 49,072 52,072 3,000
OgtlsAlzel 500 1,540 A1,040
==l 23 02 0 1,040 A 1,040
OAMR4H JtARS
48 420,0003 122 5,040 6,000 A960
Odete] AXADE WA
2 & 500,0002+1CH 500 1,500 1,000
FUXXIME 29 4,932 5,100 A168
201 Ler2aY| 910 1,000 A0
01 At 2teltl 910 1,000 A0
O=F2IXxg & FLUXXEZ2 I 2L
43 910,000 910 1,000 A0
405 KhakF St 2,522 2,600 AT8
01 AL =S F S 2,522 2,600 NAT8
OFeXXIME T2 5810 2,522 2,600 AT8
202 94 & &M J&E 922,000 922 1,000 AT8
Szl 2 4,281 5,361 1,080
201 £er2aY| 4,281 5,361 1,080
2 s==3tl 4,281 5,361 21,080
o&IIe= & 310,0003«12& 3,720 4,800 1,080
=AY 672,730 674,875 n2,145
FUZ 0 APAS 21,188 23,000 ~1,812
301 LEEN S 1,188 3,000 n1,812
UOE2Ea= 1,188 3,000 A1,812
OO0lEd™ HtelABtRA
33 1,188,000 1,188 3,000 ~1,812
TR0 AAE (FRIAI ALY 19,667 20,000 A333
201 er=3| 2,715 3,000 A285
01 Ab2teltl 2,715 3,000 1285
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el FO=JFAY

SA - BB SRA(B) - NRAY - B2 il v ol ® o
oolg £s4 =4 Z2E 2,715,000 2,715 3,000

401 AlEHIZL 2 OHYI 16,952 17,000
01 AlZHI 16,952 17,000

oolg Z2s¢ =4 23 16,952,000& 16,952 17,000




